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(Question):  A peripheral device is a....  

 

(A): Essential computer device 

(B): Non-essential computer device 

(C): Any device 

(D): Internal computer device  

 

(Correct): A 

 

 

 (Question): Which type of computer is the largest physically? 

 

(A): Network computer 

(B): Desktop computer 

(C): Mainframe computer 

(D): PDA 

 

(Correct): C 
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(Question): PDA stands for... 

 

(A): Portable Digital Automation 

(B): Personal Device Attachment 

(C): Personal Desktop Administrator 

(D): Portable Digital Assistant 

 

(Correct): D 

 

 

(Question): Fans circulate air in a computer to .... 

 

(A): Help dissipate heat 

(B): Help reduce noise 

(C): Remove dust from the air 

(D): Remove components from the computer 

 

(Correct): A 

 

 

(Question): Most internal computer components connect to the... 

 

(A): Mother board 

(B): Power supply 

(C): A and B 

(D): None of the above 

 

(Correct): A 
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(Question): A CPU speed of 1 gigahertz implies... 

 

(A): A thousand cycles in a second 

(B): A million cycles in a second 

(C): A billion cycles in a second 

(D): A trillion cycles in a second 

 

(Correct): C 

 

 

(Question): A laptop computer is designed for low power demands because... 

 

(A): It sometimes runs off a battery 

(B): It can overheat 

(C): So it can be less expensive to operate 

(D): All of the above 

 

(Correct): D 

 

 

(Question): DVDs and CDs are called optical media because.... 

 

(A): They store data in the form of magnetic signals 

(B): They store data in a way that can be read with a beam of light 

(C): They hold more data than a hard disk 

(D): They are transparent 

 

(Correct): B 
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(Question): Humans interact with computers through.... 

 

(A): The Internet 

(B): Input and output devices 

(C): Networks 

(D): CPUs 

 

(Correct): B 

 

 

(Question): A CPU is also commonly known as a... 

 

(A): Processor 

(B): Storage device 

(C): Rom chip 

(D): Cache 

 

(Correct): A 

 

 

 

(Question): Which of the following is not a component of a typical CPU? 

 

(A): The ALU 

(B): The CU 

(C): The RAM 

(D): The CPU registers 

 

(Correct): C 

 


